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45211229 shiwpwpwhwh womwwbpikp nupngikph bwdwp Gz ppud * 1 %
45211229 zhiwpwpwhwh wohwwnwbphk ngiikph hwdw Q.2 gpud ® 1 *
45211228 shbwpwpmlwh wohwnwbphbp dwhiwywpnkguk; hwwp Q2 npud 16,231,184.0 1 16,231.2
45221142 whnp shtwpwpwhwh wowwwiphbp ¥4 npund 1,695,550.0 1 1,695.6
45221142/1 pinhwhnip shbwpuwpwlwh wohunnwbpbkp 92 npwd i 1 B
45231126/1 nonguywh ennnwlwownk wonigdwh wohwwnwhphk qz npud e 1 2
45231126/2 nonguwb junnnwluwwpkph hwonigdwh wmphwwwhpbbp Q2 npud i 1 .
45231126/3 nongumb poanojwhwownpkph junnypin wyliwwnwbpbbp Q2 npwd ¥ 1 s
45231126/4 nonguwh njwhwowpbph jwoniginwb wolhumnwbpbbp Q2 npwy 2 1 ‘
45231126/5 nongumb Iggn}lmgmggk]zh Yuoniguuh wolimnwbphbp Q2 npwy i 1 L
45231144/1 Ynjouym htan juwdwd wyjuwnwplhp 92 npwd * 1 =
4523114472 Ynjoinm hbw juwuwd wytuw pGhp Q2 gpud g 1 E
4523114473 Yoymnm htan Ywydwd wuwnwplhp 92 npwd N 1 .
45231187 wwjwhundwlh b wuduwjnwwwnidwb wohnwbplkp QL npwy % 1 :
45231216 thogagunhb jwhayph wknwgpoud Q2 npuy % 1 5
45261124 nwhpGhph Ybpiwlopngdwh wyluuwnwGpltp 9z npuwd 7,423,210.0 1 7,423.2
45261124/1 nwGhpGhph Ytpwbnpngiwl wyjuwnwiplbp 9z gpud 10,773,100.0 1 10,773.1
45261124/2 nwbhpGbph Jpubnpngiw b wphiuwnwiplbp qz ypud 18,689,220.0 1 18,689.2
45261124/3 wwlhpGbph Jbpabopngdwl wpluwnwipibp QL npuud . 1 *
45231129 gnmgiw btin Ywwwd wrhnunwGplbp Q2 npud 9,314,570.0 1 9.314.6
45231129/1 ghonigiwi hbw Gwwwd wyjuwnwipibp Q2 npwy 7.488,530.0 1 74885
452311292 ptanigiwl htw hwwjwd wyluwnwlplbp 9L npunt 3,383,410.0 1 3,383.4
4523112973 ghnnigiwG bbwn Lwuwjwd wyuwwwipGbp 9z npwy 9,878,720.0 1 9,878.7
45231129/4 ginmgiwG hbwn Lwiwws w2 fuwinwipGhp Q2 npwy 12,912,164.0 1 129122
45231129/5 ghionigdwG hbwn Lwuwd wuwnwipGbp Q2 npwy 5,014,415.0 1 5,014.4
45231129/6 phiomgdwi htin Lwujwd wylnwnwliplbp LY npuy 6,336,769.0 1 5,336.8
45231129/7 phionigiws hbun 1wy fwd wyhiwuwbplhp 92 gpwyd 14,419,283.0 1 14,4193
45231129/7 ptinnigiwl hbwn LwwJwd wyhwwnwipGbp 92 npw 24,292,730.0 I 24,292.7
45231129/8 pnmgiwl bbwn Lwwjwd winwuwlpibp Q. iy 23,613,770.0 1 23,6138
45231129/9 Plinmgdwi htin Lwwwd wilswnwipllip Y] gy - 1 *
45231129/10 gbpnigiwl htaun bwwwd wylnwnwiphp Q2 gpuy * 1 *
45231129/11 plinmgiwh hbwn Lwwywd wahuunwlpGbp 92z g % 1 o
45231131/1 9 Yupwpdwi fungodwlwwpbph oo Guwgwd wofuw pltp Gz gy 2,687,970.0 1 2,688.0
452311312 9 n S funnogwlwywpbph hin Gundud wo) Gplitp q7 ppud 6,931,370.0 1 65,9314
45231131/3 gnwiwwwlwpwpdwi jungmjwlwywpbph b L Jwo wruwinwGplbp ¥4 gpud 11,101,310.0 1 11,101.3
45231131/4 9 YQuipwpdwd | Ywzwpbph bt juwuwd wrhwnwiplup Q.2 qpwd 24,299,060.0 1 24,2991
452311315 ppwiwwnwwpwpdwl junnojwlwywpbph htn | & wyh (iplkp Q7 npud 1,121,470.0 1 1,1215
45231131/6 grudwnwhupundwl junnndwwywpliph ban juwwd wzhuonwdpibp 92 pwd = 1 e
4523113177 gpwidwnwlw pwydwl junnndwlwywpbph htn Guupfwd w)) plitip Q2 gpud :: 1 2
45231131/8 Frudwnwlwpwydwl juonngwlwwpbph bbn juupwd wyluwnwGpitp qr fpwyd = 1 .
45231131/9 prwdwwnwlwpwpdwl jungofwlw)wpbph b 4 wph plikp £U npund e 1 >
45231131/10 Faul whwpwpdwl Jungnfwlw wpkph hu | wh GpGhp Q2 gpud * 1 N
45231131/11 rwiwnwlwpwrdwl ungofwlw;wnpbiph bbiu Gugdws wzhnwunwipibp Q2 npud 1 bd
45231131/12 grwdwnwlwpwpwi Junpnywlwywptph bt juwdws wyhiwwnwlipGhp Q2 il = 1 =
45231131/13 gpudwuwlupwr dwl ungodwlw;wpbph b oy wyuwnwiplbp Gz npwud * 1 =
45231131/14 gpuwdwunwlunwpdwl Junnodwlw wpbph hbu Juydwd wyiwnwbplby 9z npwd * 1 *
45231131/15 grudwunwlwpwrdwi jungodwiuw;wpbph bbn jwywd wpjuwnwiplibp QL ppuy 1 2
45231131/16 grwidwnwlwpwdwl unnaywlwywpbph hbn Juwuyjws wafuwinwGphihp 9z ppud * 1 b
45231131/17 grwdwinwhwpwpdwl unnngwlwzwnbph bin Guuwd wilswnwipGhp Q2 ppwd il 1 b
45231131/18 ppuwdwnwhwpwpiwl junnojwlw)wpbph bt L whuwwnwGpGbp 9z pwd 8 1 E
45231131/19 opuwiunw b puipiwl funnoywfuywpbph b Guwydws wyiwnwiplsp Gz pund 3 1 .
45231131/20 gruwidwnwlwpwp il junnogwlwywpbph b Juydwd wpluwnwiplsp Q. npuid i 1 *
45231131721 ? wlwpupdwi junnowlwywpbph htan o wy| b Q. npuwd * 1 b
45231131/22 grwdwunwupwpiwl funnogwlwywpbph htn Juwygwd wluwawiplbp Q2 gpwd = 1 b
45231131/23 gpwiwww b pwndwl funnnguwlwwpbph hbw Juggws wyluwnwipibp 9z npud b 1 2
45231131/24 grwidwmwlwmuniwi unnndwlwwpbph hbn juuplud wyuiwnwiplibp Q2 npwd - 1 *
45231131/25 grudwmnwlwpwpdwl uonodwlwywpbph bbn Quuwd wluwnwipibp Q2 npud 3 1 g
45231131/26 Fruwdwnwlwpuwpiwt jungndwlw)wpbph bbu juywd wyluwnwipibp Q2 npud = 1 =
45231131727 grwdwinwywpwpdwl junnnjwlw;wpbph hbin Yy wd wy Gp(ty Q2 npwd o 1 »
45231131/28 Fnwiwnwywwpdwi uogoduwlw)wpbph hin Juwgws wluwunwplhip 92 npwil * 1 .
45231131/29 Fwdwmwbu pwpdwi jeonogwlwywpbph bbn Yugdwd wyhunwpGbp Q2 npund ® 1 i
45231131/30 prwlwunwluwjwpdwl ungojwlw)wpbph b Guwuwe wyuwwnwiplhp Q2 npwd i 1 .
45231131/31 prudwunwlupwpiwi funnoywlwywptipp hbn jwydwd w)uwnwplbp qr qpwy s 1 *
45231131/32 Fpwdwuiwlupwpfud fungogwl szwpbph bl Jugwd wyl plitp PU npwy . 1 %
45211143/1 Swpqulwl op blpnGlph Jepwbinpngiwt b vywowpdwi wfuwnwbpibp Gz gpund 9,980,410.0 1 9.980.4
4521114372 az fpund d 1 .




45211143/3 Gwpquiwl op)tinGbph Jbpwinnngiul L sywewphin wyluwnwpltp 92 fpud ». 1 :
45131216 \hnnnguyhG Guwknyph wbnwapoid Q2 ppwd = ! :
45231177 Swlwywpbbiph fEpwbnpoqUul wplunwlbphtp q2 fpud 28,825,010.0 1 28,825.0
4523117771 Awbwwywphilph Jkpwhopogiul wyiunnwiphkp Q7 npwd B 1 o
4523117772 Swbwwywphbbph Jkpwhnpagdub wphiunnwiphkp Q2 npwid N 1
452311773 Swbwwuphlisph Jkpwinpogiuh wpuuwnwbplkp Q. gpwd . 1 .
bmpwinbinwdwihl wolswnwhbplbp pkontgdub b 2bbpliph wy GEynpwlwh
45311129/501  |uwppwynpaufbsph nbqugpiwl budwp s apunl 15,841,6700 ! 168417
bdwnujmpnibbkp
7115401 |k jubpywhul {Epubufenatp)wl dwoujnipaielin (%] npwd 53,759.0 1 53.8
7135154072 ubpihjulwl (Epubufonmpjul Swownipynbhkp Q2 gpwy 186,292.0 1 186.3
7135154073 ubupjwiwl Epwhuljuinipjuh Sunwnipoiikp [¥] ppud 373,784.0 1 373.8
71351540/4 wtpbpjulwl JBpubufagnipjul dwnwynipyniblbp ¥} Par 148,464.0 1 1485
7135154075 wkpbhulwl JEpwbuljnynip)wh Sunwmip)nliabp qz npuwd 67,668.0 1 67.7
71351540/6 wbjubhjuiwl (Epubulanapiut dwnwmipjniiibp qz gpwd 14,977.0 1 15.0
71351540/7 ukhabpjuwl JEpwhulngnipwl Swnnnipmitt, Qz npwd 288,385.0 1 288.4
7135154078 wkubpjulwh {Epubungotpwh Swowmpmibtty qQr npund 197,574.0 1 197.6
71351540/9 ukplpjwiwl JEpwbulogopjul SunwjnipmbhEp qr gpud 138,627.0 1 138.6
71351540/10  ukjubpiulwh {Epwhulnyoipwh bwpwnipniblbp qz qpwyd 258.243.0 1 258.2
71351540/11 kbl Epwhulnyogewh Swouympnihbikp 9z qpud 100,288.0 1 100.3
71351540/12  fubhbpiuhwi JEpwhulnynipjul Swownipniitbp qQz npud 485,854.0 1 485.9
7135154013 [ubkpbpjuwlwl JEpwhuloijoipul dwnwmpobikp qz gpwd 222,026.0 1 2220
71351540714 Junk jubpQuljwi {Epwhulinrnip)ul Swowynipnibkp Q2 pud 215,462.0 1 2155
71351540/15  Jubjubpjuwlwl {Epwhuln;nippul bwmuympymbikp Qr npwd 336,833.0 1 336.8
71351540/16 whubhuwlwl JEpubulngopul Swowmip) oty QL npund 324,623.0 1 324.6
7135154017 Junkubpuljwl (Epubuluqopuh buwnwnipynibbkp Q2 npwd 126,735.0 1 126.7
71351540/18 ububhjwlwl JEpwhulngnipjul dwnwnipymbbkp Q2 npund 33911.0 1 33.9
71351540719 uikjubhiwlul JEpwhuljonni pjul wownip)nibbbp qz npwi 472,275.0 1 4723
71351540720 ntubpjwlwl JGpuwhohnnmpui swnwnipymbikp Q2 npwyd 5,765.0 1 5.8
71351540721 ukpbhjwiwl JGpubulugnpjul SwswjnipaiteEp qr npuwy 199,608.0 1 199.6
71351540722 nbihjwhuwl {Gpuhulngnp)wl Swowynipniiiikp QL pwyd 485,981.0 1 486.0
7135154023 [unbubpwluwl {ipwhulju: aipjwh dunuymipjoleabp 92 npuwyd 22,430 1 224
71351540724 TinLjubphwhwl {Spwholniapjul swommpmibatp 92 qpwd - 1 B
71351540725 |t ubpfulul {Gpwhuljoqmpyuh dwmujnipoiblikp qz npwd * 1 L
71351540726 |wilfulhfwlul JEpwhulaiatpjwl bunwmipmibbkp q2 fpund * 1
71351540727 Juik ebphuljwl JEpwhuligatpjwh dSwowjnipjmbitp qr npud = 1 »
71351540/28  |wkbpjwlwl JEpwhulogniejot bdwnwynipjaibbkp G2 gpud * 1 N
7135154029 [k pbpjulwl Jipwbulogapjuh Swnwjnipjotblbp q2 npud 5 1 Y
71351540/30  [wkubpjufuwl (Fpwhulngmph bdwnwjnipymblkp Q7 npund . 1 -
71351540/31 wkupjulwl Jipwhulngnppul bunwaipoibbbp Q2 gpud = 1 =
71351540/32 ukhbpyulwl Epwhelognpul dwnwjniembhEp Y] npunl = 1 -
71351540/33  [nBubpjulwl {kpwhulaqaipyul dwunmnip)nbtbp Q2 ppud ' 1 .
7135154034 |k ubpjulwl [Epwhulsnnpul dwnwjngembkn QL gpud b 1 ‘
71351540/35 nEubpulul Epulhuljuinipjul Swownipalbubp Q2 npud B 1 X
71351540736 |ukjubpfuwlwl Jlpwhal o nipul Sunwjmpmulkp QL pud * 1 3
71351540/37 it fubplmiljul thwhul’;‘{u.\mp;mh dwnuynipyadibEp Qr npud = 1 '
SB111T4011 Ll plwhw)hl Fofjanoipjun buwnwjmpmbbbp L4038 npwl 25,072.0 1 25.1
9811114072 Ik pbwluhl belegos ppul dwowynipyobkp Uu gpwi 46,573.0 1 46.6
9811114073 hEnplwljuy L hulanopub swowynippibp Uu npwi 16,917.0 1 169
8111140/ Lk fibwljughl fuljnno) pjull buswyupmbutp uUu gpwd 37,4420 1 374
981111405 bbgplwlw) il buljano: pjwb bwmoympyndbbEp Uu npwl 49.393.0 1 404
98111140/6 pEnhlwluyfil hulnnai gl dwnoynipniitp Uu gpuwyd 27,725.0 1 27.7
SB111140/7 bEnplualufl Tufonn: syl SwnwjoipmbGkp uu gpwd 64,560.0 1 64.6
981111403 bEnpuwhwpl bulonu guh dwowjnpyalthbbp Ul npud 10,751.0 1 10.8
981111409 blypwlpughl hulnno gjub SwowpnipoditEp U i 144,125.0 1 144.1
98111140/10  ThEnfibwluyll bulnnnl ojwl Swowmip)oiiukp Ul qpud 84,208.0 1 842
9811114011 hbgphwlu) L bulnnol zjwl bwnwynipoitkn 9508 npwd 93,446.0 1 934
W‘Tmu bulingupjwl dwowpnipmiiiEp UL npwd 37,116.0 1 37.1
98111140/13 Alplwhw)fil hulngo gl -{.;f:{dljlltp]nlhhlip Ul npwd 49,902.0 1 499
98111140/14  |hbppbwlwfit Gulona pput dwowynipoblkp Ui qpud 72,096.0 1 721
[98TT1140/15 bEnpbwlwipl huljnyoppub dwowmipeiblEp Ul npund 55,506.0 1 55.5
9811114016 bEnpuwlmhl bulpgappueb dwewjnpmbiEp Ul gpud 121,463.0 1 1215
WW_ huljnnai ppul dwowmpnditsp uu npwd 53,865.0 1 539
OBI11140/18 bEnhtiwluyfl hunno ol dwnwapmibkEp Ul npund 99,717.0 1 9.7
98111140.19 bEnhlwlwihil buynnu ppwl dwownipobhkp Uu gpunk 10,173.0 1 10.2
Wﬁmu auyninipjub dwswympndbkp Uu npuy 141,683 i 1417
9BITIT402T  [hEnplwlu L bujnnot pjul Bwownipoeakp Uu npund 38,020 1 38.0
9811114022 [hLyplwhu) |\l Bu {nyni pjall Bw ol oip slbbEp Uu npud 97,387 1 97.4
98111140723 |hlnpuwluwyjil bu jngoi sjmb duwirnwaipymbEp Ul npund & 1 g
98111140/24 L ghbwufl by jnqo ppak duwinunipmblkp Uu npuid - 1 B
SBI11140/25 | nbnpbwRuw)fil v jugnt pruh Bunw)itpmuusp Uu fpund i L 2
98111140726  [hEqhlwQuahl: Tu jaqnippuh dwowjipmibkp Uu npwid * 1 .
OEITTI4027  |nbqhbwmbuyhl hu juno ojwh bunuwg ot pyaiiikp Ul npuwid 4 1 5
Whtqphmﬁm;[m bu o il dwo o pyndbkp Uu w ¥ 1 .
9811114029 EnpUwbuyhl b nqo) ojwldwow e niabkp uu npud = 1 5
SEITI140/30  [BLypUwluyhl bul -l Swowp p bk Uu ppwy - 1 =
[9BTT1140/ 31 LEqpbeefuyhl Galinin gl dwnwnupoliikp uu gpund * 1 *
98111140/32  [hLufbwluyll huljnyni sjol swnw)nipjoihbbp uu gpud * 1 :
9BITTTH0. 33 [BLopTwhmyf. [riljoa: wjwl 8w naym pyoiOEn [ qpud . 1 X
9BTTTI40/34  |hEnqhuwlunfl holono joywl 8wy paiubEp Ul ppud * 1
9BI11140/35 | LEqhbwhwhl [iuljano ol bm.J_\le.LJ'.;JnthLp Uu gpwd = 1 o
[GBIT1140/36 |nEnhUwluyhl Ll agot syl buu;mj..q.:!nlhllt]l Uil g * 1 .




98111140/37

hEnhlulmihl buljpnoipjuh dwowjupjmbltn Ui npunf 3 1 *

[s8TTTT30/38 hEghbwluhb buljnqoppub Swownipymbhtp Ul fpud 6,728 1 6.7
[OBTT1140/39 hEnplwhwhb b ulogoipwl dw nujnipymblikp Ui npuyd 97,387 1 97.4
OBI11140/40 bEnpbwhughl Fuljagn pjwl Swowjnipeibhtp [ npud 38,020 1 38.0
IGBITTT40/41 bbnhtwhuhl Euljngnippui swnuynip)nbbkp Ul npund 10,173 1 102
9BT1T140/47  |bEnhtwluypl Fuljngmpjwt sw nwjnipmbhkp Uil fpud 141,682 1 1417
98111140/43  [hEnptmlu)pl b oljagoipjul dwnwjnipmibtp Uu npud . 1 *
98111140/44  [hEnhbwluyhl T ulnynipyulsw owjuipjobkp Ul ypud ] 1 *
98111140/45  [hEnhhwlw)pl bufngnipjwh dwownipmUbtp Uu npuwd £ 1 .
98111140/46  [hbnphwhuwptEulngoipjwl dwowjutpmbiky uu npund . 1 =
[38TT1140/47 hEnhbwlwihb Bulngnipyjuwh dwownipalbbbp Ul npud . 1 .
[SBIT1140/48 iEnpLuluhb Eufngeipyuwl dwonujnipnibibp Uu npud : 1 A
98111140/49 bEghlumljmyhb Euljannupywh dwowjnipymbitp Uu npud . 1 *
98111140/50  [htnhbwlwyhb buljnijnipjwh dwnidjiip)nibubn Ul pud 1 .
(98111140, -1 bbnhtwluyhb buljogoippwh dwow)nipynihikp Ul npwyd ¥ 1 =
[OBITIT4057  |hightwluwyhb buljnyaipjwi bunwuLp)niblbp Uy gpwd E 1 '
98111140755 [LinhUwlmjhl Fuljnnnpywh 3 wnwym pjotbGkp U ppuwyd = 1 -
9811114054 [hinhuwfuypt buljogatpywh dwnwynip)oisukp Ul ppuwd 3 1 -
98111140555 [hlghbwlwjhb bulnyoipjul dwhwni pjaibbkp Uu gpwd 1 r
9B111140/56 | hEnhbwlw)hb buljnnnipjub dwownipjobibp Ul ol ¢ 1 g
[OBITI140/57 hEnhbwlwhl bulnynipjub 3w mujnipjniblbp uu mpud ~ 1 :
98111140758 [hknhbwlw)hl buljognipiwb bwrwjnipobbbp Uu gpud . 1 -
98111140/59 htnhuw{uhh Luingmpwlh swmujnipintbbkp Ul npud s 1 =
98111140/60  [hEnpbwluw) b Belngnippuldwnwynpymbltp uu qpud X 1 H
SBII1140,1 |hEqhbwQuyhb kilngoip)w dwnwjutpnthibp uu gpwyd g 1
71351540 -3 v pbpjulwl Lulogopub ownwnipymblbp [:%3 npud & 1 g
7135154059 [ukuUphulwl T ilni i pjwl swow)at pabbbp 9z qpwd F 1 i
71351540 40 ubputthjulpwh Eoljngopywl swpwjo gttt Q. npud 1 =)
71351540 4 nkpulipfwlwb Euljognpiwl b wewgn pubikp Q2 npuil > 1 d
|71351540,42 | nkpbpiuiwb T ulngnpwh é.mimpjm.bhhp (%3 npud E 1 ¥
71351540/43 uvikpulhfuwb Fulngapwh swowym pmbiEp QL npud < 1 4
(7135154043 |wEpbpulub | ifagnippwy swnwinipoibbkp %) npud - 1 d
7135154045 JwbpubhQwlwb T ilngoipywlh b wowym pymbikp Y3 pund i i} 3
71351540/44 wibfuliplwlwb Folnygouppwl Swowpa pmblkp Q2 npwd * 1 J
71351540/47 wEulhhulwl Eufngaippwl Swncga pymbikp Qr npwd * 1 g
(71351540, '8 b ebpiulwb Tifugmpul bu.mu.-‘g.nmmhbhp Q2 gpund ' 1 :
71351540 7 whlebpiwlhwb E il oippuh mumu!-:[.”ulhhhp Q2 g . 1 .
71351540 1 |wbfubpuljwb Eul) wi dwnwjnipoiblkp (Y3 npud & 1 4
71351540 1 |nEjubhfuwiub b Jwb & wmuurpynibhEp q} gpud * 1 N
71351540~ 2 abjubfwlwl bulugnipjwl danm i pniiibp Q4 npul iz 1 5
7135154053 nbjubpljulul Euljasnipal buwinu)at e oibkp qz npwd 7 1 ]
7135154054 |wbpubplwlul bulnyaipwh Sunw)atp)obukp q.) npuwd L I ]
7135154055 |wiLjuUpwhwb huljni g Q2 gpwil e I *
7135154056 |ululpjulwb b, qz pund ' 1 N

57 | AERURG @YW by g b 9z gpud : 1 r
71351540°8 b ubpwlwb b Gognopul bwiow g Q2 pwy 1 N
71351540,° 7 [k jubpjulwh b i pynilikp 92 gpwd " 1 5
71351540/ | wnt ubfjumwh 11 B0 Swhis apynibbkp qz npuid * 1 *
[71351540, nbubpQuilub buljonippwb Swiow ) upymilkp q2 ppud : 1 "




